





































# **Stator Field – Rotor Interaction**



The above figure shows the **rotor** placed within the **stator field** with the rotor conductors arbitrarily aligned vertically.

Note that the stator's "field coil" has been removed to simplify the figure.









Stator Field – Rotor Interaction

Image: Construction of the state of t























# <section-header>



# Brushes Stationary brushes are then mounted in a spring-loaded housings such that one brush is pressed against each ring, and an external conductor is bonded to each of the brushes.





# **Brush – Slip Ring Connection**

As long as the brushed remain pressed against the slip rings, the **contact-based connection** between the stationary brushes and the rotating slip rings provides the necessary external electrical connection to the rotating rotor conductors.















































































































































































Since a shunt-excited DC motor is supplied by a single voltage source, the **total electrical power**,  $P_{elec}$ , supplied to the motor is:

$$P_{elec} = V_t \cdot I_t = 240 \text{V} \cdot 90 \text{A} = 21,600 \text{ W}$$



## **Shunt DC Motor – Example Problem**

 $P_{elec} = 21,600W \qquad V_t = 240V \begin{pmatrix} I_t = 90A & I_a = 88A \\ I_f = 2A & R_a = 0.3\Omega \\ R_f = 120\Omega & + E_a \end{pmatrix}$ 

Now that both the terminal current  $I_t$  and the field current  $I_f$  are known, the **armature current**  $I_a$  can be determined based on the KCL equation:

$$I_a = I_t - I_f = 90 - 2 = 88 \,\mathrm{A}$$



## **Shunt DC Motor – Example Problem**

And now that both the induced armature voltage  $E_a$  and the armature current  $I_a$  are both known, the **total mechanical power**  $P_{mech}$  produced by the motor is:

 $P_{mech} = E_a \cdot I_a = (213.6V)(88A) = 18,797 W$ 

which can also be expressed in terms of horsepower:

$$P_{mech} = 18,797 \text{W} \cdot \frac{1 \text{hp}}{746 \text{W}} = 25.2 \text{ hp}$$





Although it was not requested, the **operational efficiency**  $\eta$  of the motor can be determined based on the previous results:

$$\eta = \frac{P_{out}}{P_{in}} \cdot 100\% = \frac{P_{mech}}{P_{elec}} \cdot 100\% = \frac{18,797}{21,600} \cdot 100\% = 87.0\%$$

Note that the motor's mechanical losses were not considered in this problem. If mechanical losses are included, then the output power of the motor would be the shaft power  $P_{shaft}$ , which is equal to:  $P_{shaft} = P_{mech} - P_{mechlosses}$ 





$$T_D = k_m \cdot \phi \cdot I_a$$

the original value for  $k_m \cdot \phi$  can be determined:

$$k_m \cdot \phi = \frac{T_D}{I_a} = \frac{147}{88} = 1.6705 \,\frac{\text{lb·ft}}{\text{A}}$$

133



the original value for  $k_G \cdot \phi$  can be determined:

$$k_G \cdot \phi = \frac{E_a}{n_r} = \frac{213.6}{900} = 0.23733 \frac{\text{V}}{\text{rpm}}$$







# Shunt DC Motor – Example Problem pt. II



But based on the relationship:

$$T_D = k_m \cdot \phi \cdot I_a$$

if the motor is driving a constant torque load, then a new value for the **armature current**  $I_{a(new)}$  can be determined:

$$I_{a(new)} = \frac{T_D}{k_m \cdot \phi_{(new)}} = \frac{147}{1.3364} = 110 A$$





$$n_{r(new)} = \frac{E_{a(new)}}{k_G \cdot \phi_{(new)}} = \frac{207}{0.18986} = 1090 \text{ rpm}$$



